@D 48v6 @ 48v5 @ 48V3 @ 48v2 ® 48



the 1Yol LABC = 90°, £CAB = 60° ©] 3, AC =

o, tan 15° 9] 27

D V2
@ 2+ 3

D

\\

5

_I

i

;”c

JRCI= P
@ 1+ V2
® 2-+3

® 1+ V3

D

=2

[e))]
=



IR} go] yHmo] 1 0], x

O
=

ot

3.

v
F=)
Ne]

_
N
~
m
o
N
A ol
WE =r
0 ®o
7 %o
100
o o
T 7]
a
Y
BT o
N3

3
@yz%/_aﬂ—l @ y=x+1

x+1

V3
3

O y=

®y=2x+1

= V3x+1

@y



sin(3x-30°) = ° & WEAZIE ¢ ] kg Fokofel. (F,0°<x <

90°)
L_E'I-: o

o



5. th& 2¥7 22 AABC ©] Wol7t 7v3em? A W, A 9] 371&7?
(F, 0° < A <90°)

@® 30° @ 45° ® 50° @ 60° ® 65°



